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S5IREBEM, BE—IMXROKS: THARATEN,

my_tuple = (1,
print(my_tuple)

print(my_tuple[0])

my_tuple[0]=-

TypeError Traceback (most recent call last)

<ipython-input-3-94c00a2d121b> in <module>()
1 # TAARYE
----> 2 my_tuple[0]=-1

TypeError: 'tuple' object does not support item assignment

my_tuple=(1,)
print(type(my_tuple))

<class 'tuple'>

my_list=[1,2,3]

my_tuple=tuple(my_1list)

print(my_tuple)

new_list=1ist(my_tuple)
print(new_1list)
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&35 (Set) B EFNAEEREFS, EABREERINEIHEREE TR . EENRESFF

B, UHE. & EENNRESE,

my_set = {1,
print(my_set)

new_set=set()
print(type(new_set))

{1, 2, 3}
<class 'set'>

my_set={1,2,3,4}

my_set.add(5)
print(my_set)

my_set.remove(2)
print(my_set)

items = [1, , 3, 3,

set(items)
print(unique_items)

unique_items

union = setl | set2
print( , union)
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intersection = setl & set2
print( , intersection)

symmetric_difference = setl ”» set2
print( , symmetric_difference)

difference = setl - set2
print( , difference)

is_superset = setl >= set2
print( , 1s_superset)

is_subset = setl <= set2

print( , is_subset)

He&E: {1, 2, 3, 4, 5, 6, 7, 8}
R&E: {4, 5t

SREE: {1, 2, 3, 6, 7, 8}
=& {1, 2, 3}

setl 25 set2 mI#B&: False
setl 25N set2 BFE: False

(=%

0j¥&: www.cqvist.club
s HE&E

o REBIMBHFZIE
 XiE&FH

o BB


af://n144
http://www.cqvist.club/

	元组
	集合
	作业


